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QUESTION 1

Click the Exhibit button. 

You need to create a 200 GB volume that requires 700 IOPS. 

Referring to the exhibit, in which aggregate should you create the volume? 

A. aggr1_01 

B. aggr1_02 

C. aggr2_01 

D. aggr2_02 

Correct Answer: C 

 

QUESTION 2

Which two features are available for CIFS shares on ONTAP 9.3? (Choose two.) 

A. EFS volume encryption 

B. distributed file system replication (DFSR) 

C. BranchCache 

D. access-based enumeration (ABE) 

Correct Answer: B 

 

QUESTION 3

Your company is merging with another company that has overlapping IP addresses from the same subnet range. You
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need to connect your ONTAP 9.3 cluster to the overlapping network. 

In this scenario, which ONTAP networking feature allows connectivity without IP address conflicts? 

A. VLAN 

B. subnet 

C. broadcast domain 

D. IPspace 

Correct Answer: D 

 

QUESTION 4

You want to configure a local cluster to accept SnapMirror transfers from two remote clusters. The two remote clusters
have overlapping IP networks and cannot change their IP addressing scheme. 

In this scenario, which action you perform to allow both remote clusters to replicate to the local cluster? 

A. Configure two ONTAP subnets with distinct IP address allocations. 

B. Configure network address translation (NAT) on the network. 

C. Create separate IPspaces on the local cluster. 

D. Configure the SnapMirror relationships as type XDP. 

Correct Answer: C 

 

QUESTION 5

What is the minimum number of disks required to create a RAID-DP data aggregate? 

A. 4 

B. 6 

C. 3 

D. 5 

Correct Answer: D 
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